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V=<a,b> ;w=<c,d> ;5 ke

l. ‘V‘ =\/a +b

2. " scolar mh.(ﬁflica.h'on” k,v=k<a,b> = <\za)k\o>
3. V4o = =<atc, btdS
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Vector oPeraA'iof\s

V=<12,-8> ; w=<2,7F>

a. V=75 =E
b V) = <2¢2,-543> = [<14,25)

c. -5V = <5(12) ~5(-s)> =L<‘50)2'5>

d.3V-4% = <'5(|z)-‘l 2) 'b(’}) +(=,7>
~K 2%,- 4&
3V = <3(1) ,3(-5)> = <s6,7IS)
T3 = 4@ aR)>= <8,28>
N1 = 36-8, - 1528 = 267137
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Vector Mulh’plica{-ion
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V =<1,2> V. =<-3 4D, V =<5 -l >

\-/’o 2. = 'C'3)+1C‘\')=-3+3 .:

Vs KV, #Vs» = <13y e <545, 44(0)
= <‘)2> o<2)-2.>
= 1@y +2(-2)
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